Previous Page | Main Menu | Built-In  Series Menu | Next Page |

Part Lists & Exploded Views ~ Built-In (Bl) Series Jsvs-zemcg

BI-36F DOOR, GRILLE, TRIM PARTS LIST

Ref # Part # Description Ref # Part # Description
1 7005406 Door, Fre RH-S 36F Svce 26 7007269 Retainer, Door Gasket Svce (~ 67”)
7005408 Door, Fre LH-S 36F Svce 27 7007270 Retainer, Door Gasket Svce (~ 33”)
7005410 Door, Fre RH-F/O 36F Svce 28 7007265  Trim, Cabinet Top Svce
7005412 Door, Fre LH-F/O 36F Svce 29 7007264 Frame, Cabinet Top RH Svce
Door Assemblies do NOT incl. hinges / handles. 7011015 Frame, Cabinet Top LH Svce
2 7007261 Bracket, Grille LH Svce 30 7007128 Grille, Framed 36 Svce
(Includes Support & Rivets) 7007132 Grille, Stainless 36 Svce
3 7007260 Bracket, Grille RH Svce 7007136 Grille, Overlay 36 Svce
(Includes Support & Rivets) 7013560 Hinge, Grille Assy RH Svce
4 7005254 Rivet, Semi-Tubular .180 X .280 7013561 Hinge, Grille Assy LH Svce
5 7001150 Bracket, Frame Support 31 7007262 Mainframe Assy, Right Side Svce
6 7007259 Switch Assy, Svce 32 7007263 Mainframe Assy, Left Side Svce
7 7001277 Screw, Machine #10-24X1/4 33 7007266 Kickplate, Stainless 36 Svce
8 6201550 Screw, #8-18 X 1/2 Low Profile 7007709 Kickplate, Solid Black 36 Svce
9 6201890  Screw, #8-15X3/8 6-Lobe Trhd 34 7010947  Trim, Door Top RH Svce
10 7010943 Depressor,Door Switch Svce(SS Door) 7010949  Trim, Door Top LH Svce
7011201 Depressor,Door Switch Svce(F/O Door)| 35 7010948  Trim, Door Bot RH Svce
11 7009782 Hinge Assy, Top LH High Svce 7010950  Trim, Door Bot LH Svce
7009783 Hinge Assy, Top RH High Svce 36 7009851 Hinge,Cabinet Bot LH Svce
12 7010187 Door, Screw Cover 70 Svce 7009852 Hinge,Cabinet Bot RH Svce
13 6201550  Screw, #8-18 X 1/2 Low Profile 37 7000405  Standoff, .312 Plate
14 7010195 Hndle,Framed Door 70 Svce (Framed) 38 7010940 Hinge, Door Bottom RH Svce
15 7010205  Trim, Door Handle 70 Svce (Overlay) 7010941 Hinge, Door Bottom LH Svce
16 7010952 Handle Assy, Tubular 63.875 Svce 39 7004170 Screw, #8X18X1/2 6-Lobe TRHD
7010954 Handle Assy, PRO 42.125 Svce 40 7001264  Screw, 1/4-20X3/4 #10 Hex Ft Hd
7010956 Handle Assy, Curved 57.625 Svce 41 6110460 Tensilock Bolt, 5/16-18 x 1-1/4"
17 NA For Tubular, See 7010952 42 7012994  Screw, #8X.813 Ph AB
NA For PRO, See 7010954 43 7003597  Screw, #10-32X3/8, 6 Lobe Tr
NA For Curved, See 7010956 44 6200050  Screw, #10-12 x 1/2" Pan HD
18 6110730 Screw, Set #10-32X1/4 SS, Cone 45 6110460 Tensilock Bolt, 5/16-18 x 1-1/4"

19 3511520 Stud, Mounting
20 6111090 Bolt, #10-24X1/2 (Tubular & Pro)

6111020 Screw, #10-24X3/8 FI Hd (Curved) NOT PICTURED:
21 7010946 Trim, Door Hinge Side Svce
22 NA 46 7012209 Kit, Door Panel Clips Svce
23 7007271 Shelf Assy, Door Svce (Qty 14 Clips - for Metal Front Panels)
24 NA 47 7013234 Threaded Insert, Install Svce
25 7007268 Door, Gasket Svce 48 7013560 Hinge, Grille Assy RH Svce

7013561 Hinge, Grille Assy LH Svce

#7005334 - Revision C - June, 2010 18

Previous Page Main Menu Built-In Series Menu Next Page




Previous Page | Main Menu | Built-In  Series Menu | Next Page |

Ksus-zerc] Built-In (Bl) Series  Part Lists & Exploded Views

BI-36F DOOR, GRILLE, TRIM VIEW

NOT PICTURED:

46  Sales Acc. Metal Front Panel Clips (14) Kit
47  Threaded Insert for Hinge Bolt, with Tool
48  Hinges for Grille

1
COMPLETE DOOR ASSEMBLY
25 noh I o
13 . \ 1o | b .
/ ) 39 40 b | b 8
31
/
14/
15
19 #7005334 - Revision C - June, 2010

Previous Page Main Menu Built-In Series Menu Next Page




	next page: 
	main: 
	Previous1: 
	Built-In Series: 
	5: 
	9: 
	7: 
	6: 
	4: 
	13: 
	14: 
	21: 
	23: 
	25: 
	27: 
	1m: 
	1ma: 
	1mb: 
	2m: 
	4m: 
	4ma: 
	4mb: 
	3ma: 
	3mb: 
	3m: 
	5m: 
	5ma: 
	5mb: 
	6m: 
	6ma: 
	6mb: 
	7mb: 
	8ma: 
	8mb: 
	8m: 
	7m: 
	7ma: 
	9m: 
	9ma: 
	9mb: 
	2ma: 
	2mb: 
	12: 
	15: 
	18: 
	19: 
	26: 
	32: 
	28: 
	31: 
	37: 
	12m: 
	12ma: 
	12mb: 
	10ma: 
	10mb: 
	11m: 
	11ma: 
	11mb: 
	10m: 
	13m: 
	13ma: 
	13mb: 
	3: 
	2: 
	41: 
	42: 
	43: 
	44: 
	45: 
	46: 
	47: 
	15ma: 
	15mb: 
	15m: 
	8: 
	39: 
	40: 


